SHEMARPE SRR TG BH: 94.06.20

i ] EE= W
3-6 %3
m| O ER %
— E—EE (5E 10 9)
1+ (C) SRR SR AR ST BRI € 1 708 - 3
iy?

= TR 53 100 53 JEE P 2000 R ST T RR - RS
B A ?rﬁ,;;gpwwﬂ« i/[

&I % } I:) Y jr
REES 80% 70% 60% 50% 40%

5B = SISO 1953 BRL (A)705) (B)65 3 ()60 73 (D)5 73
%47 : Jr:m 5= (80%+70%+ 60% +50%+ 40%)x 20 =3x 20 =60, {{*%(C)
2 (B) RFIFIPIBSE] TSR IR | 20 FE [ R S T % 155
Eﬂj 30 SR I EEED T S £ o
(A)20 >*ET (B)24 > EI (C)25 * E! (D)30 -~ £ (E)J‘Jf’ﬁi’ﬁ

77 . 2 _
frie| =24
7+7
20 30
3+ (E) SURkp = oY= VHINRERER] BT RIS 100 N U ORI 65 03 » Y A
Aged 800 U B AEET 7157 0 [ J%“La 600 * VT SRS (A)66 )
(B)67 55 (C)68 55 (D)69 55 (E)70 55
el 100x65+500x71 _
600

- FSHE (R 10 )
RIS

51| 50~60|60~70| 70~80 | 80~90 | 90~100
VET 6 13 16 11 4

FICDF P Bees_ 55 o ()FTFT ST 53 e
[ %]: 73.75, 738

25-19

fatg] s = ZHE 50 &0 plIAERT0+ x10=73.75 (73)
(-2)x6+ (1) x13+1x11+2x4

BT T, 75 +10% = ~738 (51)
5 IERE '] 50 53 ERYSY 0 2 TSI EEIE 32 57 » SRS A3 53 SREF S B
(RNEEERTDY (o 5V IR RECEE N3 5 I T T e

Y
75 °

70, 67

[f215] 0 (32+3)x2=70 (J3) > 32x2+3=67 (53)

6~ XY L SR RGO - (RIS 100 5 g D
(ENIERINS A I ) I S CE e G

£1H



U N | D [ [, S sy S
10 20 30 40 50 60 70 80 90 100

: (1)70 5 (2)67

faA] - IR LA

U | | R | e | 9= 50
30~40 5 5 35 -3 -15
40~50 7 12 45 -2 -14
50~60 6 18 55 -1 -6
60~70 7 25 65 0 0
70~80 10 35 75 1 10
80~90 10 45 85 2 20
90~100 5 50 95 3 15

50 10
10 25-18

=70 o

A=65+ h=10 » [T 140r=65+ 2 x10=67 - [[17F =60+

7 SR S S TR ST S P SRR T 1RG40, 25,35 * - B VR

HPEPR] 2RI T G 69, 78, 74 ;’} BB RS B R S
ilkﬁ * (FRTERERELAE TR P e

73
)‘,’;,}tr . }/Eﬁﬁﬁj13@"},69X40+78X25+74x35:73(7})
40+25+35
8 " AR A0 BT A ”5@?'%* RS ﬁ O ETET S4BT 169 75T
il x= Y= ’ [‘jgﬁ b oy

£2H



Spy o) | REECH)
150~ 155 2
155~ 160 2
160~ 165 X
165~170 10
170~175 y
175~180 6
180~ 185 4
19,7,1685
2 : 169:167l5+5x(2><(—3)+2><(—2)+x-(—1)+1>< y+2><6+3><4) —x_y=2

40
~2+2+x+10+y+6+4=40 > x+y=16=>x=9 > y=7

ieegnies+5x 0t 1ees (251

9 FImEpIE 24 > k20 b o S IAIB)E AU SO T PR 76 57 0 = PRV IS0 Rt 81 )
HI Fpud $555 8k o5 e

& %87
H 81x44—-76x24 _g7

20
T BT EEH  SS A ﬁ#ﬁiﬁﬁ?ﬁf = [ty o B Iﬁr]%&H%‘&%‘%{éﬁﬂﬁﬁﬁ‘%
B R %;“F&;ﬁ[ﬂ— ETEIES FJE%FGHI : ﬁﬁ e (Y A A F" FHr- w0 FIT)

RO S (S oS [ L - g
RYAF TR 92 ~ 86 - 80 ~ 84~ 92 - 78 - 84 > Elua»fj{:fF AR e
:78-80-84-84-86-92-92
80+84+854+86+92=85.2

11~ — FElEd o 2 RISe s  PIIE aqpu Vo) Pl R
F @ | 3|1 4|5 |6|15]| 45|62
RN 1 233421

TR T R a s fE L b R ¢ i (a,b,c) =

(£ %] (16,6,15)

- a:6+(—3)><1+(—2)><2+(—1)><3+0+9><4+39><2+56><1:16 b a;+a;, 6+6

16 2 2
c=15 (HFLVEr %) -

12 - E' T 26 T E 4T {fda 2Ty RL 167 25T o (VE A (IS - g
JTHIES 172 55 171 55 EU N e J’ﬁ AT, PR vg@;ﬁgm{ﬂaﬂﬁjgﬁ, ;
HZp iy BIES 165 2255 =8 x 22 55 A i H = ZE i RL 167 2 og -l x =

E (1)(47><167 ~-171-172) + 45 166.8 » (2)172+171-165=178

13 ~ #7100 5 5 R H “ﬁﬁlr:tl%@/pm%‘

-6 >

£3H



M| 1] 2]3|4|5]6
grl10|25]20]20] 10| 15

%’IEW’“E‘ L a s flIttEetL b flla-b= °
—1 . 1x10+2%x25+3x20+4%x20+5x10+6x15
fE47|
100
FUJ 5T 50 {FE0R( 5 3 » 5T 51 fevk|# 1% 35 .b=3, a—b=04
14 SIS ML 20 N Y- VBB A o F AT S
L7255 Hf -

=34=a

M (xy) = ° (QEI=TE A SRS a0 fIA R b s a-b= °
RS 5H |50 | 60 | 70 | 80 | 90
AR CR) 23 x|y |2

: (1)(6,7) 5 (2)10
2+3+X+y+2=20 x+y=13 x=6(")
[i#41]  0) N . :
50x2+60x3+70x+80y +90x2=20x72  |7x+8y =98 y=7(")
70+70

(3%@?26280(ﬁ?)’FU@§?=b=am;a“= =10 (1)

.a—b=80-70=10 (;3) -
15 ~ 5 i RSt S A e 53 15 —~20%, 20%, 20%, 80% - [P U 14
7 R E :
: 20%
247|111 Rk =40.8x1.2x1.2x1.8-1=0.2=20% -
16 ~ 5L WY > KB 6 E] - 55 6 |5 % nhaifA i1 68, 51,91, 78,88, 73 - ﬁﬂaﬁf@%

[R50 2,2,3,4,4,5 « HISAFR AT 9B °
o a] . 2x68+2x51+3x91+4x78+4x88+5x73
& > - 20 =77

17 ~ SRRSO RO gSy [HR
(DRI SRRIETAST Sl 5Y - (e

3o CEEIT g - @)

L\/L A
i 43 <301
Fif 45 1
b/ 40 1
# 351
30t
251
20 1
15+
10 -
o) Py
l """"" [l | | 1 1 1 | ._._ﬁ,j\fﬁj{

10 20 30 40 50 60 70 80 90 100

£ 4R



1 (1)62.2 ; (2)63.3
fE4| - LR RAR

el | e | e | e | o =X0A ) g,
20~30 1 25 -4 —4
30~40 | 4 5 35 -3 ~12
40~50 | 5 10 45 -2 ~10
50~60 | 10 20 55 -1 -10
60~70 | 15 35 65 0 0
70~80 | 10 45 75 1 10
80~90 48 85 2 6
90~100 50 95 3 6

50 -14

A=65> h=10 > ﬁrﬁ+d§r—65+%x10 62.2 (57)

Jigr MR
60 20
Me 25
70 35
Me—€0 5 _ Me=633 (53) -
70-60 15
18 ~ 5B ER P HSARO S Y T v S e IS 30% -
[ﬂ I S 7 20% - EHJEA f730% - 5 _i R RS TR 68, 82, 70, 73, 85 0 1
R B, 70> W4 UG 90 H TS R
r,l_[— Jg(ﬂlﬁ ,QJI#?#_‘)
o
B T T s - %32”3—80 , 80%0.3+86x0.2+79x0.2+90x0.3=84
19+ B SIS . o FLLH BT Sy 5 -
e RS g A ik
B 86 75 89 92 88
T 6 |4 4 3 3
: 85.6
P = 86x6+75x4+89%x4+92x3+88x3 _856 (53) -

6+4+4+3+3
20 N HURLE T S TR S  FEE l F

£5H



i
J15
10
5
0 —] }_'_
150 155 160 165 170 175 180 185
B (051

(1) F2HpI=P 2y AR s e (D“‘Jﬁff BRI MR e V)

(2) FZ5 % Sy@ppIesr Ieth_ 250 e (D“‘Jﬁfr HRVE Bl Sy o)

1 (1)164.2 (2)164.7

D(1) 27H 446415410+ 7+2+1=45 *
Hufnjgmeo+5x(22'f—5_lo):160+%:164%¢164.2 (55

(2) pI 15571625+ 5x 4X(‘2)+6><(—1)+1i>;1+7x2+ 2x3+4x1

:162£+§ :164g =164.72=164.7 (7]

£ 6H



